%
5i

— IR

g

BEREHERS AR

FHH MR

=)

-



EEEE I PN R R I ==L V]
;%ﬂmﬂG‘éﬁ ?ﬁ j%fijjﬂ
(EHIR)

H
SR
5F
ﬁ%\
\n
e
e
5
1

B EHH HMW




EHES% B (CIP) ¥

MEFEHNARBEBER LU RIBEKF2EZE—F AKX
N/ EFRFNBEREMAE. SR —L . BEFEHF
B AL, 2008. 11

ISBN 978 -7 - 04 - 025603 - 1

. @ 0. B WM. #E-FEE-F—FR -%
A V. H31 -41
o [ AR AN B AR CIP B8 #5F (2008) 58 165413 5

FER%mE TRE RERE AT BE®RT k&
Rt LEE RERY £ & REDHE KA

HRE%RTT REHHE DR Wik 010—58581118

# o#t RIS ESARE 4T REEE 8008100598

HBESRES 100120 [ b http: / Avww.hep.edu.cn

= #l 010—58581000 http: / /www.hep.com.cn
f_EITR#  http: / /www.landraco.com

2 H HaEREBRITHEBRAF http: / /www.landraco.com.cn

B R AERTESFEFERAF W8 hitp: / /www.widedu.com

B & 19984 10 A% I i

F & 880x1230 1/32 2008 4F 11 AS® S W
B 3%k 7375 D MR 20084 11 BE 1 KEDRY
F 8 210000 EFO#H 2170%

APMB A, B, BASEHERE, ERHIEEEAEEIIBER R,
i IR
WES  25603—00



il

HI

HTERHMKEAEEIARHNEBEAT  HRFLKTERE,
RE(E S RFENE AL A TR TITHARELELELAEEFHARA L M
LM ENI(1998 £ 6 A 18 HELHFMNERSLE 16 KW F
PEAAMESBEENER S I AT 1994 £ TR WX TAERA R
FE¥ N HERLFMNAEEAFE L RN B R)HNBEHESR,
1995 £9 A1 BR , ZEmiEEAXTFLESL X RFKEEHIHK
A& FTURE¥ R ERLF .

#HASEEATFEREAENBERNRFRAEESART L 2R
WENFEES AEFE RERALHNPFEA L EMNNEEFES
ARBATHEERFAETNEET Y, 198 £, BMNALH X5 K%
EHABRT(AE¥ IARFEALFLEBATFALEL - FR A
W)Yo 1999 £ 2003 F£40 2004 £  ERELZB MR E EEZKEL
HRERHATHEIT, 20048 FEXATEER , WEE RESAF L E
REFRWEN ARER - FREpwER L RNASF AL FTERNE
KHAFHEOTEEABIT. GABITAFAN(FLARIBRESF
NEREFNARFFEFA LT FMEEALERL - AN KE, B
ERETARBFEREGH NS L LT ENEREFLETIRELE NS

2008 ££ 9 A



ey o R T TR P
>3 [
FEIRAEEE et e e e 28
BB — e crr et e e e e e 28
e R - O 3
3 S
2 - - P
Bt 5t —  GAIILZE ervererevrennrsnnen i e s s e e §()
BRESE = FHIZHFE v e 186
[ N - 1] B - - -
o L 2 i - - T T YV X
B H B EABEBIET e < 205
Mgy MRAREFERF(DMBX) GEF JERR ELRFLE - 207
Mg+ E Mg E - T, e 211
[ AN S E  Br 0y g = B = O T
BREFE L BB TR v veeeeeeereen o ne e s e e 208

(=]



W K H

—. B8RS

H T E WA R UL R 22 0 B F A N B (LATF R AR IR %2
HAR)WRIBKE, BIFEFETFTHEE, RE(RSFEFNZRE
(XTFETFTEEWREEVRASE N ART L HLELARE) (1998
6 H18 Hilld) MESFBRFNERASNAE 1994 £ T EHNCKTIE
B A B AR 25 2%y o AR 22 A 40 BB IR AR K T 5 — % 5 108 50D B9
FHMER, &4 BAR%ENRERA ¥ LEREL, L
JLEE R A %2 N R BEIE K5 — % Wl TR RN E 556 T4 K#
(BWUKBITH) o

HRAENEHFWEN, BEEXLEEARFRNRARERREEHN
AR —ERARIESEERNES . XRERES: B BORM B
MRAE M —ERIEEE S, A S FHEA - EWRESEREAM
BiFEEH . A% R EANRXL LR EXBPRELBHERNFFTAE
& TER, BAR R A B RE RN AENFIE S HEN .

S L= RO

AEREBEEZEELSENSTERLE R . SEMRFNOELN(HT
AR F R, AR B I A7 90, 4 3 B RE B iR R R 4
RFAT. ZEWHENAMRE SFEREFE¥IHREHT). FE
REZERNC AR BRI SRR R e ) B IS 1R RE
HEFEHHEBLLTEK:

(—) #WiC

iR 6 220 A FIETR I 2 600 5 A iE 4H (WM R — B R
=)o STHEFE 2 360 PR iR (18 10 3K b R AR AR E AR ) ESR B
SHER, NEESE SEMMFPERIER; BRIAICNERGERE
I58) 352 H R N B A



(=) W&

AR MY R A B A R R A BRI S5 4, BE TR AR TR AR A Y X B
HER RIS R A T

(=) &

BEREIERITHESE, M TAE FAMIETHE RRES
i RE M ATEM R EIEANERMSEN S L, BB LT
. BEEFAHMIEDEDH LI B,

(1) Bk

BELE A i FI R S MR A B i RE B 1 — AR PR R A 1 S0 Bt
BiCHk. BEREEIMERNE MY, REBM EFXMEBBRXR, W
SEEMBEMEE ., FEEHEE kR G55 100 ~ 120 447,

(H) Bi*

BETEA BRI A LT 8 — et BUA B S KRS XE A
A F e B R M TEIE R L DUE s DUE R3S REE M R X U B
B BRI, iR EARES, EERESBR. RENNEE &/
Bt 400 2215 e, LI SE H BE O 48 /Bt 250 ~ 350 MLFE

(R) 5

BEAAPHEERSBENELE ., WEXEMNT& M, 6
FHELABE BEXER, REREFHIR. 8PN ESHALT
300 A~iA] 53T

=88 FER .56

FERASRE - E -, AE-UERKERF; XE-HFE
WA, PN 100 73 KB — L ETH 65% ,iXBE— HEH
35% ;iR F) KT H 60% g Rekg . B /KT 18 ¥, Bitik&E—
/o0, YA R,

TEREA BRI AR R E RT3 T, B %l ] G824 A & A i 40 &
(AEZEHRNABPENA-EEFGRERXBLFLIN) , SHER Y
EREUATRBARENL, HXMEAERT -EMBEZN, WA BME
Fo— b BB AE i REGE /D

WE—EXIELRE L Mg S HS A, R

. 0.



BEIE) 90 A3 b . A4 T ALRE B (AR SRR PR BT B
BB A4, B AR N 60 4k . BT R B ST 150 24

B—®a KEDE :

A IV 10, BB 5y, FiABE N 10 ~15 505k, &ER7T
-, BRERLZ T R,

A R TERIE, B S5 ~10 8, B84, FEkaEdE LiEd—
BASE R TR T LASE BUX B I B 4 DB R, BERFBAHR
XFER BN 4 D FEER P& — BRGSO BHE R
R FRAXIEE LT

B ¥ X EEM, S ~ 108, -, FEEAERXE Eiz—
Bexet i FO A 22 5 0 ) R LA B B X (AR 4 B R . BERBERE
PR R IR AR BRI ERN S AR 4 P ERER
Pkl — M ERERER.

BWH WL .

AER 4L 20 ~30 B, B 0.5 4y, ZiRETE K 10 ~ 15 434,
AEFCLEER T

AR 10 ~15 @ R R A SR, EXRFENAAHHT
QK — MRS iAH # T R g, A TAMN 4 M REER Pk D
— Bk B4 id iR 4

B 10 ~15 8, A 0 e s . BEREAERFAZN
B AN FERERPERRESR HEAS AL, HATFRE,

W)L A B30 B DM A K BT A1 E B9 29 6 220 > B3R FI 45 600 4>
A

B=Wa MEEH

A EBor3LBE 25 ~30 @, 1 4y . FiARE] A 40 ~ 50 54, 1
BRSO 5 ~ 6 Y, BR300 ~ 400 B 1A], TR 5 A 1 T AR AR O
BIEERN E MBS 4 R IEBERPRE — T REER,



FENES SAH=E

AR IEH 10 ~15 BB 1 4, B E D 10 ~15 8, &
WA RFMER, SR B RPN —FER,

R — A mEEEPNE X REI0~15 MEHGRE 101
25 [ B9 5 SO R 200 ~ 250 AN IRE 1S A BRSO BE R 250 ~
300 MED BT AN — B EREENFAR 4 M HEBERPE
— P BEER, FEEEWLIR AW, WA IEEE.

R A5 SRR — [R] B e BRI B B A ORI E 10 ~ 15 4
FAEEXHTROTEPARRASHENFELER. TENFIE
ERPAFGITAED -MRESR. REERTLUESLIWE, @Al IA
PRI

BERS BiE

AT R R EDIDOFR BT, 3L 20 43, B 10 o F A [E
K30 srdh, BURBFCEBER, SCFE N,

A TRIEN , AR =R, R H AR — AR,

R —  EREAEMES NP, BRKE R 80 ~100 PR CHIA,

BRI BRELBFE-NBE,BREKE RN 80 ~ 100 133
Bid,

B = E—PRERMEET, A S MHE FTUERRWAF,ERE
AR S MET. 5 AR TFREKESN 80 ~ 100 4~ X Hid,

BRI, ATRHMER, BRERFEPH—FER,

BA—  BEOREZEABES MR, S KR 100 ~ 120 MLF,

R EORE A MR- NEE L BE K E R 100 ~ 120 NMIXEF

BAMS REEMHE
Aoy 18,15 Jro F BN R 2 30 o4 BSR4 78 AL E i
FNEBERERARERTE -RALT 150 MAKE X, FillE
AARBEERPEX FEEX MEARRIRE-RIHGHXEETHA
- 4.



R ]

Part 1 Dialogue Communication
gy LEBE

Section A Dialogue Completion 52 F{ X} &

Directions : In this section, you will read 2 short incomplete dialogues be-
tween two speakers, each followed by 4 choices marked A, B, C and D.
Choose the answer that best suits the situation to complete the dialogue by

marking the corresponding letter with a single bar across the square brackets

on your machine-scoring ANSWER SHEET.

1. Beach Motel. May I help you?

_ Yes. We need a double room for this weekend.

A
B
A. Thank you. I'd like to make a long distance call to New York.
B
C. Sorry. I don't think you can help us. Thank you anyway.

D

. All right. My name is David Jones and my room number is 301.

. May I see your driving license and vehicle registration card, please?

. Ok. But I was driving at 55 miles per hour.

A

B

A. Sorry, don’t write me a ticket.
B

C. Sure. Did I do anything wrong?
D

. Yes. But I don’t think I'm a bad driver.
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Section B Dialogue Comprehension XtiF 12 i

Directions: In this section, you will read 2 short conversations between a
man and a woman. At the end of each conversation there is a question fol-
lowed by 4 choices marked A, B, C and D. Choose the best answer to the
question from the 4 choices given by marking the corresponding letter with a
single bar across the square brackets on your machine-scoring ANSWER

SHEET.

1. Man: Did you tell Sally she has failed the exam again?
Woman: No. I didn’t have the heart to tell her.
Question; What does the woman mean?
A. She doesn’t like a heart to heart talk with Sally.
B. She thinks the topic is too serious for Sally.
C. She thinks the news is too bad for Sally.
D. She refuses to tell Sally the bad news.

2. Man: I had a quarrel with Mary. She said that she hated me coming
back home late.
Woman: You need to put your cards on the table.
Question: What does the woman mean?
A. The man shouldn’t quarrel with Mary.
B. The man should go home earlier.
C. The man shouldn’t play cards in the evening.

D. The man should talk about the problem openly.

8

%
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Part I Vocabulary
B4y A iC

Section A

Directions: In this section, there are 5 sentences, each with one word or
phrase underlined. Choose the one from the 4 choices marked A, B, C and
D that best keeps the meaning of the sentence. Then mark the corresponding

letter with a single bar across the square brackets on your machine-scoring

ANSWER SHEET.

1. As working hours tend to get shorter and shorter, people should learn
how to spend their increased leisure time in some satisfying way.
A. longer hours B. more chance

C. free time D. happy time

2. The energy companies launched urgent studies of the Arctic environ-

ment.
A. made B. stressed
C. moved D. started

3. Establishment of a sound insurance system is essential for deepening

economic reforms.
A. accurate B. healthy

C. undisturbed D. safe

4. The workers at large approved of the government’s policy.
A. mostly B. freely
C. happily D. angrily



5. It would take Mary some time to get over the grief at her husband’s
death.
A. overcome B. do without

C. pass D. deal with

BELE.1.C 2.D 3.B 4. A 5 A

Section B

Directions: In this section, there are 5 incomplete sentences. For each sen-
tence there are 4 choices marked A, B, C and D. Choose the one that best
completes the sentence. Then mark the corresponding letter with a single bar

across the square brackets on your machine-scoring ANSWER SHEET.

1. He was admittance to the formal party for not being dressed
properly.
A. unnoticed B. ignored
C. denied D. rejected

2. Nowadays advertising costs are no longer in reasonable to the

total cost of the product.

A. proportion B. connection
C. reaction D. relation
3. He has not the idea of the problems involved.
A. worst B. faintest
C. most D. weakest
4. Many local authorities are opposed to the introduction of com-

prehensive schooling.
A. strangely B. strictly
. 8-



C. severely D. sharply

5. I could see a car in the distance, but I couldn’t what color it
was.
A. see through B. make out
C. look out D. take in

BEXEE.N.C 2.A 3.B 4.D 5 B

Part I Reading Comprehension

E=M4a 5% HE S

Directions: There are 2 passages in this part. Each passage is followed by
some questions or unfinished statements. For each of them there are 4 choices
marked A, B, C and D. Choose the best one and mark the corresponding
letter with a single bar across the square brackets on your machine-scoring

ANSWER SHEET.

Passage One E—&

At the Kyoto conference on global warming in December 1997, it be-
came abundantly clear how complex it has become to work out international
agreements relating to the environment because of economic concerns
unique to each country. It is no longer enough to try to forbid certain activ-
ities or to reduce emissions of certain substances. The global challenges of
the interlink between the environment and development increasingly bring
us to the core of the economic life of the states. During the late 1980s we
were able, through international agreements, to make deep cuts in emis-
stons harmful to the ozone layer. These reductions were made possible be-
cause substitutions had been found for many of the harmful chemicals and,

. 9.



more important, because the harmful substances could be replaced without
negative effects on employment and the economies of states.

Although the threat of global warming has been known to the world for
decades and all couniries and leaders agree that we need to deal with the
problem, we also know that the effects of the measures, especially harsh
measures taken in some couniries, would be nullified if other countries do
not control their emissions. Whereas the UN team on climate change has
found that the emissions of carbon dioxide would have to be cut globally by
60% to stabilize the content of CO, in the atmosphere, this path is not fea-
sible for several reasons. Such deep cuts would cause a breakdown of the
world economy. Important and populous ( A I FE 8 # ) low-or medium-
income countries are not yet willing to undertake legal commitments about
their energy uses. In addition, the state of world technology would not yet
permit us to make such a big leap.

We must, however, find a solution to the threat of global warming ear-
ly in the 21st century. Such a commitment would require a degree of
shared vision and common responsibilities new to humanity. Success lies in
the force of imaginations, in imagining what would happen if we fail to act.
Although many living in cold regions would welcome the global-warming
effect of a warmer winter, few would cheer the arrival of the subsequent

tropical diseases, especially where there had been none.

1. As is suggested by the passage, the Kyoto conference on global warming
in December 1997
A. failed to reach agreements relating to the environment
B. discussed economic concerns about reduction of emissions
C. undertook tasks to find substitutions for harmful substances
D

tried to cope with the challenges of development

2. Reductions of emissions of harmful substances were made possible in the

- 10 -



late 1980s, because of all the following EXCEPT
A. substitutions were found for harmful chemicals
B. development of economy was maintained

C. employment was not affected

D. the world economy at the time was good

3. The word “nullified” in the 2nd paragraph could best be replaced by

“ ”

A. erased

B. enforced
C. neutralized
D. inhibited

4. According to the author, it is impossible at present to cut 60% of car-
bon dioxide emissions globally because
A. some countries are irresponsible

it would cause a collapse of the world economy

il is only a goal to be reached in the future

oo ®

some people are lacking in imagination

5. To help solve the problem of global warming,
another world conference on climate change should be held
advanced technology should be made available

all the harmful substances should be replaced

S 0w

more countries should undertake commitments about energy uses

6. The main purpose of this passage is to
A. analyze the problem of global warming
B. argue against making deep cuts in emissions
C. convince people that global warming is a real threat

-11-



D. criticize those who refuse to cut down harmful emissions

W

Ergz. 0 A 2.D 3.C 4.B 5. D 6. A

Passage Two S8

The media can impact current events. As a graduate student at Berke-
ley in the 1960s, I remember experiencing the events related to the
People’s Park that were occurring on campus. Some of these events were
given national media coverage in the press and on TV. I found it interesting
to compare my impressions of what was going on with perceptions obtained
from the news media. I could begin to see events of that time feed on news
coverage. This also provided me with some healthy insights into the distinc-
tions between these realities.

Electronic media are having a greater impact on the people’s lives ev-
ery day. People gather more and more of their impressions from representa-
tions. Television and telephone communications are linking people to a
global village, or what one writer calls the electronic city. Consider the in-
formation that television brings into your home every day. Consider also the
contact you have with others simply by using telephone. These media ex-
tend your consciousness and your contact. For example, the video coverage
of the 1989 San Francisco earthquake focused on “live action” such as the
fires or the rescue efforts. This gave the viewer the impression of total dis-
aster. Television coverage of the Iragi War also developed an immediacy.
CNN reported events as they happened. This coverage was distributed
worldwide. Although most people were far away from these events, they de-
veloped some perceptions of these realities.

In 1992, many people watched in horror as riots broke out on a sad
Wednesday evening in Los Angeles, seemingly fed by video coverage from
helicopters. This event was triggered by the verdict (¥]#) in the Rodney
King beating. We are now in an age where the public can have access to

.12.



